
;+s]t g+= of]hgf tyf sfo{s|dx? of]hgf :yn ljlgof]lht ah]6 ?= >dbfg nfeflGjt hg;+Vof s}lkmot

10 cfly{s ljsf; 432000
1010 s[lif lq=g=g=kf= % 432000

s]/f v]tL nlj;f 86400
sfutL v]tL lq=g=g=kf= % 86400
lsle v]tL lq=g=g=kf= % 86400
t/sf/L v]tL lq=g=g=kf= % 86400
sfutL / ;'Gtnf v]tL lq=g=g=kf= % 86400

20 ;fdflhs ljsf; lq=g=g=kf= % 2833094
2010 lzIff lq=g=g=kf= % 820800

hgsNof0f lg=df=lj= 3]/fjf/ lgdf{0f lq=g=g=kf= % 259200
;/:jtL k|f=lj=kmlg{r/ lgdf{0f  lq=g=g=kf= % 129600
lxdr'nL k|f=lj=  lkmN8 lgdf{0f lq=g=g=kf= % 172800
hgsNof0f lg=df=lj= jfXo jftfj/0f ;'wf/ lq=g=g=kf= % 172800
;/:jtL k|f=lj=3]/fjf/ dd{t lq=g=g=kf= % 86400

2030 vfg]kfgL tyf ;/;kmfO{ lq=g=g=kf= % 1900800
vf]g]kfgL lv/f / sfkmnkf6f lgdf{0f lq=g=g=kf= % 345600
:ofnf vfg]kfgL cfof]hgf lgdf{0f lq=g=g=kf= % 259200
kf/Lufp d'nL vfg]kfgL lgdf{0f lq=g=g=kf= % 777600
kf]v/f d'nL vfg]kfgL cfof]hgf dd{t -k~rf;] d'xfg_ lq=g=g=kf= % 518400

2050 v]ns'b tyf dgf]/~hg lq=g=g=kf= % 51840
v]ns'b ;fdfu|L vl/b lq=g=g=kf= % 34560
l;s]{d]nf Joj:yfkg lq=g=g=kf= % 17280

2060 ;dfj]zLs/0f lq=g=g=kf= % 59654
ckf+u lq=g=g=kf= % 17280
h]i7 gful/s ;Ddfg sfo{s|d lq=g=g=kf= % 12960

 gnuf8 gu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no
 bNnL, hfh/sf]6 .

gnuf8 gu/kflnsf j8f g+= % cGt{ut cfly{s jif{ @)&$.&% df sfof{Gjog x'g] of]hgfx?



blnt xslxt sfo{s|d lq=g=g=kf= % 12960
dlxnf sfo{s|d lq=g=g=kf= % 16454

30 k'jf{wf/ ljsf; lq=g=g=kf= % 6156000
3010 :yfgLo  ;8s, k'n emf]=k'= lq=g=g=kf= % 648000

l;s]{ b]lv l;s]{ 6fs'/f ;Dd uf]/]6f] jf6f] dd{t lq=g=g=kf= % 43200
Wofkf 6fs'/f sfnLtfn b]lv 8fF8f nlj;f ;Dd uf]]/]6f] jf6f] lg= lq=g=g=kf= % 345600
vf/f b]]lv bof8fF8f ;Dd uf]/]6f jf6f]] dd{t lq=g=g=kf= % 86400
vf/f b]lv s}lrvf]nf ;Dd jf6f] dd{t lq=g=g=kf= % 129600
h'gL df=lj= l;s]6 hfld/] hf]8\g] sf7]k'n lq=g=g=kf= % 43200

3020 l;+rfO{ lq=g=g=kf= % 907200
uf/sfDb l;s]{ 6fs'/f yf]kf l;+rfO{ lq=g=g=kf= % 604800
uf/]vf]nf b]lv s'gfv]t l;+rfO{ s'nf] lgdf{0f lq=g=g=kf= % 302400

3040 phf{÷hnljB't lq=g=g=kf= % 4600800
nx/]vf]nf n3'hnljB't cfof]hgf kf]n vl/b lq=g=g=kf= % 1209600
em'd/fvf]nf nB'hnljB't cfof]hgf lgdf{0f lq=g=g=kf= % 3218400
afudf/] n3'hnljB't cfof]hgf nfOg lj:tf/ tyf kf]n vl/b lq=g=g=kf= % 172800

40 jftfj/0f tyf ljkt Joj:yfkg lq=g=g=kf= % 552960
4010 jg tyf e' ;+/If0f lq=g=g=kf= % 207360

d'nL kf/Lufp cgf/L P]/f/L nlj;f kf]v/f vfG6fs'/f / /3'gfy j[Iff/f]kg lq=g=g=kf= % 207360
4050 hnpTkGg k|sf]k lgoGq0f lq=g=g=kf= % 345600

;j{hLt rgf/fsf] 3/b]lv uf/fv]fnf tf/hfnL lq=g=g=kf= % 172800
vf/fv]fnf tf/hfnL lq=g=g=kf= % 172800
hDdf /sd ?= 9974054


